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1 23 9 9
2 28 10 13
3 28 1 11
4 32 12 14
5 20 13 12
6 12 14 9
7 12 15 3
8 10 16 1

Find trend value with the help of seven yearly

moving average from the following data :

Year Price Year Price
1 23 9 9
2 26 10 13
3 28 11 1
4 32 12 14
5 20 13 12
6 12 14
7 12 16
8 10 16
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Note :

ECONOMICS
Paper - i
(Statistical Methods)
Time Allowed : Three Hours
Maximum Marks : 75

Minimum Pass Marks : 25

¥ dier wet & IR AR TS s ¥ v W
T sfard &1 el vt & s T 2
Attempt all five questions. One question from
each unit is compulsory. All questions carry equal
marks.

¥o® - I/ Unit-1
wiftemd # aRwmr Afsw sik 3ws ol vd Rwsi
@ fademn Sifow 15
Give definition of statistics and discuss its function
and limitations.
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_{H:- o it . { : Calculate mean from the following data :
(@) afigRor B At Wages (in Rs.) No. of Labourer's
Write short notes on the following (any two) : More than 0 685
(a) Different methods of collecting primary data More than 10 500
: ; More than 20 423
(b) Questionnaire
More than 30 389
(c) Methods of Sampling Slire fiad 46 209
@1 - 11/ Unit - II More than 60 50
Q.2 e siedl ¥ ana s e 15 : More than 70 0
gl (v, ) st & e i
fr=fofiaa aRol & age® Fq ST -
0 ¥ 3t 685 o :
10 ¥ 3t 500 10 - 20 4
20 ¥ i 423 10 - 30 16
30 9 3t 389 10 - 40 56
40 ¥ 3R 209 19 O %
: 10 - 60 124
50 & afts 73
10~ 70 137
60 %r:aﬁﬁﬁ : 50 Y0 - 40 s48
70 ¥ Hfers 0 f 10 - 90 150
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(4) (5)

Find out mode from the following table - f y " Calculate the Standard Deviation and its coefficient
“Class Frequuncy'r : of the following data :
10-20 3 4 Wages (in Rs.) No. of Labourer's
jpe 18 UptoRs. 10 - 12
10-40 56 .
10-50 g7 Upto Rs. 20 30
10-60 124 Upto Rs. 30 65
10-70 137 - UptoRs. 40 107
10-80 146 Upto Rs. 50 157
ket 150 Upto Rs. 60 202
Yl - TR/ Unie- A { f Upto Rs. 70 222
Q.3. Frfofea siwst & wm fees @ s9@1 Uis '
S % Upto Rs. 80 230
wagd (5. #) wftt o we et/ Or
10 . HIgd 12 afeRoT @1 GRWINa aRa g¢ F9¢ A9 B TS
20 T. HIGY @ 30 S|
51454 qa;:-ﬂ = g Define Dispersion and describe various measures
40 3. WG @ 107
80 % rm@ - 57 of dispersion.
60 3. FEA 7D 202 % - IV / Unit - IV
70 3. WXl 0@ 222 Q.4. FfoRea Refidl &t amrg vd Qe & amea & @
80 . T 7 230 @1t [T o1 wesd UiE s B 15
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(6) |
g . 15 16 17 18 19 20

fafiar & dw=m 250 200 150 120 100 80

Fraftia RaenRdt & W=m 200 150 90 48 30 12

Find out Karl Pearson's Coefficient of Correlation

between ages and playing habits :
Age 15 16 17 18 19 20
No. of Students 250 200 150 120 100 80

No. of Regular Players 200 150 90 48 30 12
Fyar/ Or

Frafefaa wdf ¥ Ruodds & ot sieR wevEy

VTS &1 IRSe Bife :

mAEEn 1 2 3 4 5 6 7 8 9 10

BRI -2 -4 -1 43 +2 0 ? 43 +3 -2

From the following data calculate Spearman's Rank

Difference Correlation coefficient :

Serial Number 1, 2 3 4 5 6 7 8 9 10

Rank Difference =2 —4 =1 +3 +2 0 7 +3 +3 -2

H-106

(7)
%18 - V / Unit -V
Q.5 Praffed s & af 2000 @1 30R a6 7FA g2
a§ 2001 & foe ame, wnefovsed R & g

YESIS T DI : 15
aw] afzo00 @001
wq W wa A
A 2 & 4 6
B 5 10 5§ §
c 4 14 5 10
D 2 19 - U

Find out price number for the year 2001 taking
2000 as the base year by Bowley's, Marshall

Edgeworth method :
Commodity Year 2000 Year 2001
Price Quantity Price Quantity
A 2 8 4 6
B 5 A0 6 5
Cc 4 14 5 1
D 2 19 2. 13
Fuar / Or
Py wiet & W i ger A & g § yght
Heg 5| B :
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